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Chapter 3 Polynomials Rewew
1. Match the equation with the graph.

a. y=(x—1)(x+1)(x+3) b. y=x*(x-2) & y:(x+2)(.>:—l)2 d. y=x(x+2)(l—x]
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Sketch agr aph of fix ) without using a caicuialm
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3, 706 = — 3 By 13, f(x) = —4x* +15x* —8x -3

Period:

5. Find the dimensions of a triangle with maximum area where the sum of the base and height is 24. No Calc.
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6. Given f(x) =3x>+4x -7, express f(x) in the form f(x) = q(x){x + 1) + r(x).
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7. Write a polynomial of least degree with a bounce at x = -3, a zero at the origin, is an odd function and has
a negative leading coefficient in factored form.
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8. Write the function g(x) in standard (vertex) form. g(x)=-2x"+6x+7
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9. Let v(x) 6x” +41x° —9x — 14 represents the volume ofa rectangular prism. If h(x) :_2x = 1 1 resents .

the height, find z}(/) the area of the base of the rectangul
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1. Givena(x) = 3x*- 2 +15x — 10, ——__ ot
a) List all possible rational zeros. L
P T IR I S Pl | Y
— {f d/ ,r" f(/‘! / .{ # 31 > '.t‘ 41'7 !)
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/’/c) Verify your results with Descartes’ rule of signs.
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d) Factor a(x). e) Sketch a graph of a(x)
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f) Find the y-intercept of a(x).
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